1.
YN

ST 545 g R R 15
AR 4« BT _ HWBIBE
T'Ebfﬁ O ke E m w A ey ngiﬁﬁﬁuﬁﬁ%ﬁ {ff R
o 4tes L [ e [ e I B
A L Xk
1 AR e o1opn 23 | | | —
2 REESh IR
(1) EE1658H (KMBHEAC/S [40 | LL|F 36F 48F b 1] —|  —
A) R
(2)  EFELASOHIR 40 | 1| 244 37 o0 10 — —
O| tH=E R H XA —ffd 9. 6 14 — — — —
RSN DKIE 40 | 11| IsHh 2. 386 2.3 -  —
| K A R A e 4 24 - - | -
LFEELS oD K tee
1 FEMFEEFRESR (UER) Huy40 | LR 29F 449 13 13 | —
2 ERCEAA OISR 40 | L1 22F 345k 7.6rpq 7.6 - —
RE A Kk — | BRAR | PbME bbYE LbMH pLWE -
AT LR X
1 A — o 1TeE o300 | | | —
2 ERLEA DX
(1)?\3‘3%&%5@@@@%&% (LE#H) |40 | L1|h 39f 68 44h 44 | —
(2)  EFELSoHuR 40 | L1(F 33F siF 26 26 0 0~  —
i bR
1 Bl — | BRAR | PbME bWE b M - —
2 LRSS OHIR 50 | 1.1| k¥R pewE v v - —
LR R 40 | L 1P 27F 48 35 35 —| —
KU P P L X fgk —pn 1ERE 30 - | | —
EERRIA 0O K 40 | 1.1 24[: L e
LERETIEN it b — | BEAR | fkME bk¥E kMR LkME - -
AR KR 40 | L1|f 38k 59 | | |  —
R AR AT b XIS — | BRER | Lhif| b i bkl | -




SF0 S s ® K o5
IR =2 il RS
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
0 BEAR T LA Xk
1 BRI a1 1 - | o —
2 LELRIAA DS
(1) EE16 8 MR 40 | 1.1l g os0 | | - —
(2) RS OHR w0 | Lilm e sd | o] | =
A AL — | AR | e pere deim pew | -
AT LA DI
1 BRI —let 14k 29 _ _ _ _
2 LR KK 40 | L1 28 45 38 38 0 |  —
n=sF X 50 | 11| kMg peE by pe¥E | —
TR AR X g
1 R R —f 13 17 — — — —
2 bRRPUIO IR
(1) EiE1655K (Kf@GEA S (40 | L1|F 3gF 527 130 13 — —
A) B
(2)  EEELSOHI 40 | L1|F 26 38t 7.8 7.8 0 | —
S E=as LR — || b J:I:i’ér J:tzfttfé - -
AT AR DI 40 | L1|d 34 59 | | | —
AbERE ey 40 | L1 o29fF 47 | | | —
AP ke (AEe s — | B | seuE pevE s mewE | —
T A g
1 B R T Y. — _ _ _
2 LRSS ORI
(1) EE16 8EMKR 40 | 1.1|fF 38 s | —| - —
(2)  EREES oI 40 | L1|F 3gF 47 - - - -
L| #iAt DEkEaR (=% 50 11| Lb#E be¥H bhvE bbdE - -
T L X
1 R o1 o200 | | | -
2 _LRiA ORI 40 1.1 [ 24F: 43 — — — —




ST 545 i = X 3E
AR 4« BT EiREEE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
Ll R+ (ikcakAE: — | BRMR | PR HYE phME phYE - -
A L Xk
1 AR o i e E e
2 FELS ORI 40 | L1|f o3gf 59 - - | —
HER FE PR M X3 —oageE 19 | | | —
LFREIA D K 5
1/331657%,%% (KF@EmEs g 92) |40 | LR 40pf 61 1P 1~ —
I
2 _kERLIA o Hi 40 | 1.1|% 23+ SET@ 6.7{%@ 6.7 — -
EHAR [EEE e — | B | IhEE MR HhME fhiE - -
A LA Kk
1 BRI — 1T 27 | —| | -
2 EREEADXIR 40 | L1[F 33F 52 — — — —
FET A Kk
1 Bl it — | BRMR | Pt bkWE pbvE bR | —
2 EREELS O 50 | 11| re¥E ¥R v Ve | —
AT LA X I 40 | L1|f 28 B4 | | | —
| GuEp FE2 F X 3 —ft 14 o260 — | - —
RRRLIA DK Ig
1/%-_7165%,%% (KFIBEMA S 5R) |40 | 1L1[F 49 74 134 13 — —
AN
2 EELA O HuR 40 L1 27 436 7. 460 7. 4 - -
7| ERR ek AEz — | BRI LR tl:i’ér J:E;Tmttf@ - -
A AR Kk
1 R — 1pE 18 |~ | —
2 EEELS X
(1)7\@%168%%&&%5%%#%& 40 | L1fd 27 3eb b o1y | —
A
(2) ?%165%&% (RAIREA S (40 | L1|[F 32F e 13 13— —
ESIRAIN




ST 545 i = X 5
AR 4« BT EiREEE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
7=| E W (3)  EFELAS O 40 | L1 21 345k 7.7@7‘4 - -
(g T b Kk — | BEAR | PhEE k¥ kHE ke — —
AT {L A X
1 AR —t 1 19 - | - —
2 EELIAA DX
(1) EEMLGEBFELH (UEHR |40 | L1 1gd 25 1 11 | —
&0 B oD Mgk
(2)  LRCLAS O HER 40 | L1 18 250 8 1M 8.1 —| -
C| FFH PR X A — 1 o200 - - - -
LRRLIS DX
1 FoBSFAALfER#HRE W 40 | L2(f 32F sHh 7.4 7.4 —  —
2 kRS o 40 | 1L.2|h 25 37 2.4Tmz‘4 - -
N =R [iEcERAES:7 — | BEAR | bhEE Mh¥E kHE LhvE - —
AT (LA Xk
1 AR —t o3l 34 0 - | - -
2 kRSO 40 | L1|f 32 58 | | | —
A e FH b X s R Y I E e
ERRLISI O XI5
1 EEMEEPIESR (UER & [40 | L1|+ 36f 66+ 870 87 | —
OURIESF HACTEPRR A L
2 _ERCEA DR 40 | L1|¥ 29 458k 5. 2% 5.2 — -
(| At Fot Y b R s —E 4 300 —| - — =
NEEIIEINAIFS: 40 | L1(F 22 48 27 27—  —
HE e 40 | L1|f 34 57— - — —
id E (ke |qEs=
1 J RAUKILALATE 0 sk — | BRAR | PbME kMR peME MR | —
2 LERLS o 50 | L.1| ievE pbewE pevE pevE - —
AR KR 40 | L1(|f 28fF 44— | | -
vl AT b XIS — | R | fhiH LkEE Lbdy eME | —




ST 545 g R R 5
AR 4« BT BRI
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
=N AL S Ik
1 B —wn L 28 - —| | -
2 LRSI ORE 40 | L1 32 45t 1ok 100 | —
ML P P i X S5 —t 1 200 | | - —
EERLS O K
1 EEMEERESSR (UER) K& [40 | L1|d 33 57d 39t 39— —
TMRIESF A LB
2 _LEELES 40 | L1|% 9F 32 29 29 0 — —
Oy W= ke |a=e:7 — | B | EhEE bhME MR phYE - -
T AR I 40 | 1L1|H 38F 56 09— - - —
TE H b Rk — | BEHR| MW b v W - —
T LR ik
1 B — e 27 | - - —
2 LELSI ORI 40 | L1 32 55 | - | —
e 3 F P X3 o 1gE 280 | | | —
RERLIA D KI5
1 EEMGEBRAESHR (UER) fBvy40 | LL|b 40h esd 14 1~ —
2 kLSO 40 | L1|F i 41 7ot 7.6 —| —
ST P2 R i X Ja —t e 15 | | | —
LELA ORI 40 | L1414l 2280 2.4l 2.4 —| —
S Exiin 40 | L1 33F 53— | | —
Ik B L R —tog.ei 18 | | | —
LRELIA D RS
1 EEMGEEAESS (LER w40 | L1|F oweF 38 - - - -
2 _ERCEAF R 40 | L1|% 14 268 5. 7k 5.7  — -
~ HEZIE = P b X —t 13 24—~ | -
RSO KIS 40 | L1|H 24fp 46 28 28 | —
A ST [iREx A4 — | EHR| bW bbdE o ped - —
T A X dk




ST 545 i = X 65
AR 4« BT BRI
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
A P T 1 BRI —e 1 o210 - - | -
2 ERLSAOXIR 40 | L1(F 25 37 10fh 100 —| —
FaEN kel — | BEAR | PbME bW kv kW | —
AT LR X
1 AERNEE# 40 | 1.1 e oS I I R
2 BRSO Hit
(1) et i 6t 1spE o290 | | | —
(2) BRSO XIR
A RIESF D AbERRRE 40 | L1 33k TUF 40k 400 | —
SR SN E NOT: b 40 | L1|4 2o a6 32 39 | —
PR T b E IRk — | BB bhHE LhHE LhHE LRYE - -
A AR K
1 B B g —t 15 25— —| | -
2 hEESA DX
(1)]/\3‘5%@?551%%%%% (L#RH) |40 | L1|4 30 594 38 38 —| —
(2) kst o g 40 | LL|f 24 424 30 30— —
[EERELE AT L X I — | R | Pt beEE bbdy e | —
LA X I 40 | L1|f 33 B3 | | | —
A Y ML X et g 14 | | | —
BRSO XIS 40 | L2|F 13 16 2. 4t 2.4 0 —| —
i B L R —too.efti 16 0 —|  —| —| —
LRELIA D RS
1 EEMFEAREZS (UER Bvy40 | L1|F 18 41 15 15—  —
2 _ERCEAF R 40 | L1|% 14F 297 9.3 9.3 — -
ol i = P —Me oty 17— -~ —
ERELASR D DI
1 FEHGEEFIESR (UER mvy40 | L1|h 28 34 13 13 - -
2 _FEOEAA O 40 | 11| 17 28 7. 7.9 — —




